
1. Soit	
  un	
  mode	
  précis	
  du	
  champ	
  électromagnétique	
  de	
  fréquence	
  ω 	
  qui	
  se	
  propage	
  selon	
  
l’axe	
  z	
  et	
  est	
  polarisé	
  selon	
  l’axe	
  x.	
  
	
  
a) Calculez	
  le	
  commutateur	
   N̂ , Êx⎡⎣ ⎤⎦ .	
  Déduisez-­‐en	
  une	
  expression	
  pour	
  ΔN̂ΔÊx .	
  

	
  
b) Supposons	
  que	
  le	
  vecteur	
  d’état	
  du	
  champ	
  associé	
  à	
  ce	
  mode	
  s’écrive	
  au	
  temps	
   t = 0 	
  

ψ (0) =
1
2

n + eiφ n +1( ) ,	
  où	
  φ 	
  est	
  une	
  phase.	
  	
  
Trouvez	
  une	
  expression	
  pour	
   ψ (t) .	
  
	
  

c) Vérifiez	
   que	
   la	
   relation	
   d’incertitude	
   trouvée	
   en	
   a)	
   est	
   satisfaite	
   pour	
   l’état	
   ψ (t) 	
  
obtenu	
  en	
  b).	
  

	
  
Solution	
  :	
  (désolé,	
  le	
  problème	
  est	
  un	
  peu	
  plus	
  long	
  que	
  je	
  ne	
  le	
  croyais)	
  
	
  
a) Ex = iC aeikz − a†e− ikz⎡⎣ ⎤⎦ .	
  Donc	
   N ,Ex[ ] = iE N ,a[ ]eikz − N ,a†⎡⎣ ⎤⎦e

− ikz{ } = −iE aeikz + a†e− ikz⎡⎣ ⎤⎦ .	
  
	
  

Il	
  suit	
  que	
   ΔN( )2 ΔEx( )2 ≥ 1
4

i N ,Ex[ ]( )2 ≥
E 2

4
1+ 2N + aae2ikz + c.h.( ) 	
  

b) Éq.	
  de	
  Schrödinger	
  :	
  
	
  
d
dt

ψ (t) =
H
i

ψ (t) =
1
2

−inω n − i(n +1)ωeiφ n +1⎡⎣ ⎤⎦ .	
  	
  

	
  
On	
  peut	
  donc	
  écrire	
  
	
  

ψ (t) 1
2
e− inω t n + eiφe− i(n+1)ω t n +1( ) .	
  

c) N ψ (t) = a†a ψ (t) =
1
2
e− inω tn n + eiφe− i(n+1)ω t (n +1) n +1( )

⇒ N = ψ (t) N ψ (t) = n + 1
2

	
  

De	
  même,	
  
	
  

N 2 = ψ (t) NN ψ (t) = n2 + n + 1
2
.	
  Il	
  suit	
  que	
  

	
  

∆ N( )2 = N 2 − N 2 =
1
4
.	
  

	
  



De	
  la	
  même	
  façon,	
  
	
  

Ex ψ (t) =
iE
2
e− inω teikz n n −1 + eiφe− i(n+1)ω teikz n +1 n +1(

−e− inω te− ikz n +1 n +1 − eiφe− i(n+1)ω te− ikz n + 2 n + 2 )
	
  

	
  
Ex = ψ (t) Ex ψ (t) = −E n +1sin kz −ωt + φ( ) ,	
  
E2

x = ψ (t) ExEx ψ (t) = 2E 2 (n +1) .	
  
	
  
Il	
  suit	
  que	
   ∆ Ex( )2 = E 2 (n +1) 2 − sin2 kz −ωt + φ( )⎡⎣ ⎤⎦ .	
  
	
  
Finalement,	
  
	
  
E 2

4
1+ 2N + aae2ikz + c.h.( ) =

E 2

4
ψ (t) 1+ 2N + aae2ikz + c.h.( ) ψ (t) =

E 2

4
(n +1)

	
  
	
  

On	
  a	
  donc	
  bel	
  et	
  bien	
  
	
  

ΔN( )2 ∆ Ex( )2 = E
2

4
(n +1) 2 − sin2 kz −ωt + φ( )⎡⎣ ⎤⎦ ≥

E 2

4
(n +1) .	
  

	
  
2. Soit	
  le	
  vecteur	
  d’état	
  associé	
  à	
  un	
  mode	
  particulier	
  du	
  champ	
  électromagnétique	
  :	
  

	
  

ψ =
1
2
0 + 10( ) .	
  

	
  
a) Obtenez	
  la	
  valeur	
  moyenne	
  du	
  nombre	
  de	
  photons	
   N̂ 	
  pour	
  cet	
  état.	
  

b) Supposons	
  qu’on	
  absorbe	
  un	
  photon.	
  Que	
  vaut	
  maintenant	
   N̂ ?	
  
	
  
Solution	
  
	
  

a) 	
   N = ψ N ψ =
1
2
0 +10( ) = 5 	
  

	
  
b) Absorber	
  un	
  photon,	
  c’est	
  faire	
  agir	
  l’opérateur	
  a 	
  :	
  

	
  

′ψ =
1
2
a 0 + a 10( ) = 1

2
0 + 10 9( ) = 5 9 	
  et	
  alors	
   N =

′ψ N ′ψ
′ψ ′ψ

= 9 .	
  

	
  



3. Opérateur	
  moment	
  cinétique.	
  
	
  
Soit	
  la	
  partie	
  intrinsèque	
  du	
  moment	
  cinétique	
  classique	
   JS 	
  dont	
  vous	
  avez	
  obtenu	
  une	
  
expression	
  dans	
  la	
  série	
  d’exercices	
  no.	
  2.	
  Faites	
  la	
  transposition	
  des	
  variables	
  normales	
  
en	
  opérateurs	
  dans	
  la	
  base	
  de	
  polarisation	
  circulaire.	
  Montrez	
  que	
  
	
  

ĴS = 
n
∑ k

k
N̂n+ − N̂n−( ) ,	
  

	
  
où	
   les	
   indices	
   +	
   et	
   –	
   se	
   réfèrent	
   aux	
   deux	
   polarisations	
   circulaires.	
   Interprétez	
   votre	
  
résultat.	
  
	
  

Solution	
  :	
  
	
  
Une	
  fois	
  les	
  α 	
  transposés	
  en	
   a ,	
  l’expression	
  de	
   JS 	
  devient	
  
	
  

ĴS = ε0
L3

Cn
2

ωnnλ
∑ λk̂n anλanλ

† + c.h.( )

= k̂n λ anλ
† anλ +

1
2

⎡
⎣⎢

⎤
⎦⎥λ

∑
n
∑

= k̂n
n
∑ an+

† an+ − an−
† an−⎡⎣ ⎤⎦

= k̂n
n
∑ Nn+ − Nn−[ ]

	
  

	
  
ĴS 	
   est	
   selon	
   k 	
   et	
   sa	
   grandeur	
   vaut	
    	
   multiplié	
   par	
   la	
   différence	
   entre	
   le	
   nombre	
   de	
  
photons	
   de	
   polarisation	
   circulaire	
   +	
   et	
   ceux	
   de	
   polarisation	
   –.	
   Il	
   suit	
   que	
   le	
   moment	
  
cinétique	
  intrinsèque,	
  ou	
  «	
  spin	
  »,	
  du	
  photon	
  vaut	
  ± 	
  :	
  le	
  photon	
  est	
  bel	
  et	
  bien	
  un	
  boson.	
  
	
  
4. Lemme	
  de	
  Baker-­‐Hausdorf.	
  

	
  
Montrez	
  que	
  	
  

exÂ B̂e− xÂ ≅ B̂ + x Â, B̂⎡⎣ ⎤⎦ +
x2

2
Â, Â, B̂⎡⎣ ⎤⎦⎡
⎣

⎤
⎦ .	
  

Solution	
  :	
  
	
  
Soit	
   f̂ (x) = exÂ B̂e− xÂ .	
   Son	
   développement	
   en	
   série	
   de	
   Taylor	
   s’écrit	
  

f̂ (x)  f̂ (0) + x df̂
dx

x=0

+
x2

2
d 2 f̂
dx2

x=0

.	
  

	
  
Mais	
  
	
  



df̂
dx

= exÂ ÂB̂ − B̂Â( )e− xÂ = exÂ Â, B̂⎡⎣ ⎤⎦e
− xÂ 	
   et	
  

d 2 f̂
dx2

= exÂ Â, Â, B̂⎡⎣ ⎤⎦ − Â, B̂⎡⎣ ⎤⎦ Â( )e− xÂ = exÂ Â, Â, B̂⎡⎣ ⎤⎦⎡
⎣

⎤
⎦e

− xÂ .	
  

	
  
5. Théorème	
  de	
  Campbell-­‐Baker-­‐Hausdorf	
  

	
  
Soient	
   Â 	
  et	
   B̂ 	
  deux	
  opérateurs	
  tels	
  que	
   Â, Â, B̂⎡⎣ ⎤⎦⎡

⎣
⎤
⎦ = B̂, Â, B̂⎡⎣ ⎤⎦⎡

⎣
⎤
⎦ = 0 	
  et	
  soit	
   Ĉ = exÂexB̂ .	
  

	
  
a) Montrez	
  que	
  	
  

	
  
dĈ
dx

= Â + B̂ + x Â, B̂⎡⎣ ⎤⎦{ }Ĉ = Ĉ Â + B̂ + x Â, B̂⎡⎣ ⎤⎦{ } .	
  
	
  

b) Il	
  suit	
  de	
  a)	
  qu’on	
  peut	
  intégrer	
  l’équation	
  différentielle	
  par	
  rapport	
  à	
   x 	
  comme	
  s’il	
  
s’agissait	
   d’une	
   équation	
   ordinaire.	
   Déduisez-­‐en	
   le	
   théorème	
   de	
   Campbell-­‐Baker-­‐
Hausdorf	
  :	
  
	
  
ex Â+ B̂( ) = exÂexB̂e− x

2 Â, B̂⎡⎣ ⎤⎦ /2 = exB̂exÂex
2 Â, B̂⎡⎣ ⎤⎦ /2 .	
  

	
  
Solution	
  :	
  (dorénavant,	
  les	
  chapeaux	
  sur	
  les	
  opérateurs	
  seront	
  omis)	
  
	
  

a) dC
dx

= AexAexB + exAexBB = AC + exABe− xAexAexB = AC + exABe− xAC .	
  

	
  
Selon	
  le	
  lemme	
  de	
  Baker-­‐Hausdorf,	
  puisque	
   Â, Â, B̂⎡⎣ ⎤⎦⎡

⎣
⎤
⎦ = B̂, Â, B̂⎡⎣ ⎤⎦⎡

⎣
⎤
⎦ = 0 	
  

dC
dX

= AC + BC + x A,B[ ]C = A + B + x A,B[ ]( )C .	
  	
  
	
  
Mais	
  on	
  aurait	
  aussi	
  pu	
  écrire	
  
	
  
dC
dx

= exAexBe− xBAexB + CB = C A + B + x A,B[ ]( ) .	
  
b) Comme	
  C	
  commute	
  avec	
   A + B + x A,B[ ]( ) ,	
  on	
  peut	
   intégrer	
   l’équation	
  différentielle	
  

comme	
  s’il	
  s’agissait	
  de	
  fonctions	
  ordinaires	
  plutôt	
  que	
  d’opérateurs	
  :	
  
	
  

C(x) = C(0)ex(A+B)e
x2

2
A,B[ ]

 ⇒  ex(A+B) = exAexBe
−
x2

2
A,B[ ]

.	
  
	
  
Rien	
  n’empêche	
  de	
  faire	
  la	
  transposition	
  A↔ B ,	
  de	
  telle	
  sorte	
  que	
  
	
  



ex(A+B) = ex(B+A) = exBexAe
−
x2

2
B,A[ ]

= exBexAe
x2

2
A,B[ ]

.	
  
	
  
6. Opérateur	
  «	
  phase	
  »	
  

	
  
Comme	
   les	
  variables	
  normales	
  sont	
  complexes,	
  on	
  peut	
  écrire	
  α = α eiφ .	
  Par	
  anologie,	
  
on	
  peut	
  écrire	
   a = ĝeiφ̂ ,	
  où	
   φ̂ 	
  correspond	
  à	
  un	
  «	
  opérateur	
  phase	
  ».	
  Supposons	
  que	
   ĝ 	
  et	
  
φ̂ 	
  soient	
  des	
  opérateurs	
  hermitiques.	
  Il	
  suit	
  que	
   ĥ = eiφ̂ 	
  est	
  un	
  opérateur	
  unitaire.	
  
	
  
a) Montrez	
  que	
   ĝ = N̂ +1 .	
  L’opérateur	
   ĝ 	
  est	
  donc	
  effectivement	
  hermitique.	
  
b) Montrez	
  que	
   N̂ , ĥ⎡⎣ ⎤⎦ = −ĥ .	
  

c) Utilisez	
   le	
   lemme	
  de	
  Baker-­‐Hausdorf	
   pour	
   en	
   déduire	
   que	
   N̂ ,φ̂⎡⎣ ⎤⎦ = i .	
   Que	
   peut-­‐on	
  

dire	
  de	
  ΔN̂Δφ̂ ?	
  
d) Montrez	
   que	
   0 ĥĥ† 0 = 1	
   mais	
   que	
   0 ĥ†ĥ 0 = 0 .	
   En	
   conséquence,	
   ĥ 	
   n’est	
   pas	
  

unitaire	
  et,	
  par	
  suite,	
   φ̂ 	
  n’est	
  pas	
  hermitique!	
  Nous	
  verrons	
  en	
  cours	
  comment	
  définir	
  
des	
  opérateurs	
  qui	
  mesurent	
  la	
  phase.	
  

	
  
	
  
Solution	
  :	
  
	
  

a) aa† = geiφ( ) e− iφg( ) = g2 = a†a +1 = N +1 ⇒  g= N +1 .	
  

b) N = a†a = e− iφg( ) geiφ( ) = e− iφ N +1( )eiφ = e− iφNeiφ +1

⇒  eiφN = Neiφ + eiφ  ⇒  N ,h[ ] = −h

	
  

c) Selon	
  b),	
  N −1 = e− iφNeiφ .	
  On	
  prend	
   x = −i,  A = φ,  B = N .	
  On	
  obtient	
  
	
  

N −1  N − i φ,N[ ]− 1
2

φ, φ,N[ ]⎡⎣ ⎤⎦ .	
  

	
  
Cette	
   équation	
   sera	
   exactement	
   satisfaite	
   si	
   φ,N[ ] = −i ,	
   puisqu’automatiquement,	
  
φ, φ,N[ ]⎡⎣ ⎤⎦ = 0 ,	
   de	
  même	
   que	
   tous	
   les	
   commutateurs	
   d’ordre	
   supérieur	
   qui	
   suivent	
  
dans	
  le	
  développement	
  de	
  Taylor.	
  On	
  peut	
  déduire	
  de	
  ce	
  commutateur	
  que	
  
	
  

ΔNΔφ ≥
1
2
.	
  

	
  
Autrement	
  dit,	
  si	
  on	
  connaît	
  exactement	
  le	
  nombre	
  de	
  photons	
  d’un	
  état	
  du	
  champ,	
  la	
  
phase	
   de	
   cet	
   état	
   sera	
   complètement	
   indéterminée.	
   Il	
   s’agit	
   là	
   d’un	
   résultat	
  
extrêmement	
  important	
  mais	
  formellement	
  faux.	
  



d) De	
  a),	
  on	
  peut	
  écrire	
   h =
1
g
a = 1

N +1
a .	
  Par	
  suite,	
   h† = a† 1

N +1
.	
  

	
  
Par	
  suite,	
  
	
  

hh† = 1
N +1

aa† 1
N +1

=
1
N +1

a†a +1( ) 1
N +1

=
1
N +1

N +1( ) 1
N +1

= 1 .	
  

	
  

Par	
  contre,	
  h†h = a† 1
N +1

a .	
  Il	
  suit	
  que	
   0 ĥĥ† 0 = 1	
  mais	
  que	
   0 ĥ†ĥ 0 = 0 	
  
	
  
Ceci	
  est	
  spécifique	
  à	
  l’état	
  du	
  vide	
  :	
  il	
  n’est	
  pas	
  difficile	
  de	
  montrer	
  que,	
  si	
  
	
  
n ≠ 0 ,	
   n hh† n = n h†h n = 1 .	
  


